Kleiner Walzer

Franz Schubert, aus Op. 50
Bearb.: Walter Pichler

T e TTTY 4
o | e S TTT® KEREL S N
QL Ol T8 QW TR L oTe e oTe oTe ote
AN L AT )| o il il il il il
o O
4 . . . of|sfe] [o .
e Nnl i~ | et B 1| | _|trre _TTTY — 'Y TN
TII T TTTY TTTe TN
. |11 ™ L 1 | ~t
| I TTT .PMI et
[ 10N 11
.I@ x T8 eles| t H k¢ ha M M
O 9] O s!
[ 1\ I [ 1 N,J T Af TT® TTTY T TN
L 18 lt T8 | ~1 [ || 1
Ul Ol H oE 8 Lee! i~y
[ AaN o | A Q|
/ | | L 11 [ NN I TTTY [ 1 | Y
ban H_u L o 9] o
1
L1 ] [ 1 e 179
| | 17 1 v
E“vl 4 ol lc m L v
. o o™
| TP \& T ™ [ ¥ o1 | rd
| ™ N IH| oy - .8 L 1
===
U_ | i~ L TT1 B“..I i~
L o M T ™ b i~
|| TTTY E“-.I et H T H T 1M
1. ™t o | TN o L i~
. et
L T N TTT% N H
H 1 %
e | TN | hrl ~ | | TTT® \E T TN
===
L— 1IN i~ ||| T b i~y
|| o R T ™ B“rl ~
! X \ 1 T Q| e ™
T e T
ag ole p ole ag ag [o | [ | i~
-
N caul N o N ||
N N ™ - |} | i~
N N NP N A
\ |l T L) T
— ~ 5 o 2 N =< o =N cN&Je» o @wﬁﬁ
= = 8 = @ 2 N 2 2 = =
2 2 = £ E 1
=) i) -
% = © £
& & S
st st 4

N S S O P
~ Tll —1TTTe 17T 1|1..—!‘ TN
| %I M. nLY e T
| TTT®|e .II.‘. . | L
s!nT q 1L, e T ™
6 b“u T e .PWI i~
-.I.HM_ e e .Uee| i~
o[ 3 oyl
ﬁuy i Lll?/ I, TT1
1 11 1110 [ R
O O OR mﬂH
[ 1A' | ~t
TN IIID lllw RN [ 1
| HEES
o« hw.ul 1
{ 10NE g \T TTT® i T TN
mi.N / L= - ==
L T {.1\ e B
o1 o o
LIn 8 [ L P
N . [ i ol
q
..mml. TTTe ~
o {11 it
ol Q] o T T
HH/
, N |, TT™ \ L 1
O O O
Ou_mlr BHI ~
Jlll |, M TT™ TTTe TN
L1 | 1 1 |
NGO NG o NG o N = B

—




